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i, j, k ∈ Ω 
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 �� ������� ��� ����������� ���� �������� i ��
 j 
���

���
��� k� �� 
����� ���� ����������� r(i, j, k)�

��� ���������
��� ��������� �������� ��

C(p)k =
∑
i,j

pipjr(i, j, k)
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C(p)k =
∑
i,j

pipj

∑
b

χb[(b ⊗ i) ⊕ (b̄ ⊗ j) = k]

	���� χb �� ��� ���
�
����� �� ������� ���� b�
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r(a ⊕ i, a ⊕ j, a ⊕ k) = r(i, j, k)
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� �������� �
�� ��
� ����
����
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�� ��
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� ��� ����� a⊕ i� �
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	� ������


� 
� ��� ������� i �
�� j ��� ���	 k� 
�� ���� ���	�� a ⊕ k�

40

GECCO 2007 Tutorial / Genetic Algorithm Theory

3594



��� ������ �	
���

���� ����� 	��	 
�����
�� �� ��	������� �� 	�� ��	���

Mi,j = r(i, j, 0)
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r(i, j, k) = r(k ⊕ i, k ⊕ j, 0) = Mk⊕i,k⊕j
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�	
� ����	� σk

(σk)i,j = [i = k ⊕ j]
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C(p)k = pT σkMσT
k p

43

����������	�
� ���		�
��

��� ���������� 	
��
 ����
�� 	��
 ⊕ ��� �� �
����������� �� �����	��

�� ����� 	��
 ��� ��	 ����
����� ������� A�

�� ����� � ��	 ������ Mi,j = Ai⊕j,i�

�� ��� M �� �
� ������ ������ ������� C�

44

GECCO 2007 Tutorial / Genetic Algorithm Theory

3595



��� �����

��� ������ �	
��� M �� 
	���� 
�� ����� �� 
�� �	
��� A� ����
� ��	�

	� �����
	�
 ���� �� 
�� �
��� �� 
��������� ��� ��	����� 
��

�����	
��� dCx �� 
�� ������
�
 ���

��� 	
 	 ����
 x �� 
�� �	
���

dCx = 2
∑

k

σkM∗σT
k xk
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